Brain Teasers.

3. How many birthdays does the average man have?

5. A woman gives a beggar 50 cents; the woman is the
beggar's sister, but the beggar is not the woman's brother.
How come?

3. Is it legal for a man in California to marry his widow's
gister? Why?

4. What is neither inside a house nor outside a house, but
no house would be complete without it?

5. Divide 30 by 1/2 and add 10. What is the answer?

1. Two men play five games of checkers. Each man wins
the same number of games. There are no ties. Explain
this.
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